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= *1 [ No.10-9-3-2-1| No.10-9-3-1a1
BELL
(hORHEE, EE200mm) BIER m 58.9 58.90 58.90
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5BEE
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&EE
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ZEE
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HWHET EBISUH m 57.0 57.00 57.00
ARPY1IUNTEERET m 570 57.00 57.00
ARMAEAT m - -
FRELT0E m3 2.1 2.10 210
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THE | 1ER M B R % L Aivs & 5 g | 10793 1e1[10-9-3-2-1
¢ 1800 ¢ 2000
AT
INBIST R (=Y 0))
T
SHEERRUIET T m 16.80 16.80 8.00 8.80
SRR T m2 8.84 8.84 400 484
AsASLE m3 0.35 035 0.16 0.19
HEH m3 36.59 36.59 15.30 2129
BERL Co m3 1137 11.37 455 6.83
FEELT m3 4.84 4.84 1.97 2.87
“Hiusn m3 31.72 31.72 1330 18.42
T8I

=R ¢ 1500 m - -

¢ 1800 m - -
¢ 2000 m 6.00 6.00 6.00
T=Yuy 5B & 1 1 1
EABHIRBHRERE El 1 1 1
5lEFE m 09 09 09
gE m 2400 24.00 1.7 123
BELER m 6.30 6.30 6.30
Shk#EkT [E5038 1.0 1 1
AFALALEET AT 1.0 1 1
XS T m3 1.20 1.20 1.20
E#aVY)—k m3 3.10 3.10 310
HREDLHY—b m3 017 017 017
295y t 17 17 080 0.90




B = GI/EER)
THE | 1ER M B R % B n g | 10793 1a1[10-9-3-2-1
- T |moERE| RO FRA
R RT
ZEBERN—F—
SEARE ¥ 10 10 5 5




T EERBEEMREREETE

2 B F X
1 X

H Al I

w2 ¢ B &




EREE

FAEIT &1

H = (GFt/BEE)
I |3 L= PR B o g |10710-5-6-2[10-10-5-6-2[10-10-5-6-2[10-10-6-6-2| = .. [S10-9-3-2[S10-9-3-2| /N E [S10-9-3-1
= i No.1~No.4| No.4~No.3| No.3~No.2| No.2~No.1 i No.1~No.2| No.1~No.1 No.1~No.1
BEELL
(& 1£200mm) BIER m 145 74 14.4 20.0 22.0 18.0 59 21.7 372 12 115
HERLIT B B
I\ RIYEHI
BEERIRHI BH0.28m3 m3 244 156 327 433 453 35.2 76 355 40.7 12 116
_ BERE
BEHRIER BH0.28m3 m3 34 20 338 55 6.1 49 12 6.0 6.0 2 18
-~ FAL
ERIER BH0.28m3 m3 175 17 25.0 32.6 335 25.5 51 239 274 7 15
FEEL0E AtE m3 77 44 8.6 1.9 13.1 10.7 28 129 14.8 5 45
INBL /R DRI HEHEI
ERRIEHI BH0.13m3 m3 - - - -
_ BEREA
BERIER BH0.13m3 m3 - - - -
~ FAL
BEHRIER BHO0.13m3 m3 - - - _
FE+nE HE m3 - - - -
INBL /Ry DR HEHEI
ERRIEHI BHO0.08m3 m3 - - - -
_ BERE
BERIER BH0.08m3 m3 - - - -
-~ FAL
BEHRIER BH0.08m3 m3 - - - _
FE+nE HE m3 - - - -
Eiia
Y7HEEIRIEE ZLE  [PRP ¢ 200 m 138 7 134 19.1 211 17.1 57 207 36.2 11 10.6
M
" ESHF PRP ¢ 200 T 13 8 2.0 20 2.0 20 4 20 2.0 1 1.0
o #HE ETKER
1BEZ T — 150mm X 50m 2% m 138 7 134 19.1 21.1 17.1 57 20.7 362 11 10.6
EERT
HEHE T (BH0.28m3)
BRERT t=10cm BAERHA m3 12 7 1.4 20 22 1.8 4 22 22 1 0.6
HEHE T (BHO.13m3)
BEERT t=10cm BAERSG m3 - - -
HEHE T (BH0.08m3)
BEERT t=10cm BAERE m3 - - -
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T3E | &3l W B bS] -1 P o gt [10710-5-6-2[10-10-5-6-2[10-10-6-6-2[10-10-5-6-2 . [S10-9-3-2|S10-9-3-2 /N Bt | S10-9-3-1
No.1~No.4| No.4~No.3[ No.3~No.2| No.2~No.1 No.1~No.2| No.1~No.1 No.1~No.1
ERLBET
TFILERIELR
TILSRREAT H=2.0m m 58.9 58.9 217 37.2
FILSRIREAT H=2.5m m 744 744 14.4 200 220 180
TILSXRMEIIRT H=2.0m m 58.9 58.9 217 37.2
TILSXRMEIIRT H=2.5m m 744 74.4 144 20.0 220 180
TBXRT BEERE 1B m 98.9 400 220 18.0 58.9 21.7 37.2
TBXRT BELE 28 m 344 34.4 14.4 200
BEEMARLE - - _
BEHAREAL  [H=20m m - - ~
BEHAREAL  [H=25m m - - ~
BEHXREIKRT  [H=20m m - - -
BEHXREIIKRT  [H=25m m - - -
TBXRT BEER 1B m - - _
TBXRT BEERE 2B m - - _
FCAHE S TR
EAT m - - -
5likT m - - _
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IHE | &5l # B B % L 204 I g g |10710-5-6-2]10-10-5-6-210-10-6-6-210-10-5-6-2  10-10-5-6-2 | 10-10-5-6-2 [ 10-10-5-6-2 | 10-10-6-6-2 | 10-10-5-6-2 | 10-10-5-6-2
= " i No.1~No.4| No.1~No.4 No.4 No.4~No.3| No.3~No.2| No.3~No.2| No.3~No.2 No.2 No.2~No.1| No.2~No.1
RAESLUFET I
ERLIT
1\ IR HEE
BEERIRHI BH0.28m3 m3 55.7 29.3 33 2.1 2.8 25 23 43 18 44 44 14
BAERA
BERIER BH0.28m3 m3 74 3.4 0.4 0.3 0.4 0.3 0.3 05 0.3 0.4 05 0.2
mEAL
ERIER BH0.28m3 m3 39.6 218 2.4 1.6 2.0 1.8 1.7 33 1.3 35 33 1.1
FRET 0B 4tE m3 115 5.1 0.7 0.4 0.6 0.6 0.4 0.6 0.4 0.6 0.7 0.2
INEL Xy DR YR EI
BEERIRHI BH0.13m3 m3
BAERA
ERIER BH0.13m3 m3 -
AL
ERIER BHO0.13m3 m3 -
FeELTuE 2tEH m3 -
INEL Xy DR SR EI
BEERIRHI BHO0.08m3 m3 -
BAERA
ERIER BH0.08m3 m3 -
AL
ERIER BH0.08m3 m3 -
FeELTuE 2tEH m3 -
FIHRETL
(ks
$HERE ¢ 200
FIE T-25 & -
$HERE ¢ 200
" T-14 1@ -
$HERE ¢ 200
" T-8 & -
el
" ¢ 200 & 22 10 1 1 1 1 1 1 1 1 1 1
FIHRETL BHBKES T 22 10 1 1 1 1 1 1 1 1 1 1
EHREL SHEXWHEE ¢ 200 ERT - -
Bt EMEET
HTEMS O
X ERMAT BRAEE 3.0mkHE &0z 10 4 1 1 1 1
BT ER 3.0mLlES0mEK#E [T 12 6 1 1 1 1 1 1
WMAEER 5.0mlE120mkiE | &FfT




EBREE

FEIT &S5RI
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TH | 725 L= PR B v 5 | S107973-2S10-9-3-2 S10-9-3-2 $10-9-3-2| $10-9-3-2 $10-9-3-2 $10-9-3-2| §10-9-3-2| §10-9-3-2
i No.1~No.2| No.1~No.2| No.1~No.2| No.1~No.2| No.2~No.1| No.2~No.1| No.1~No.2| No.1~No.2| No.2~No.1
RAESLUFET I
ERLIT
1\ IR HEE
BEERIRHI BH0.28m3 m3 206 24 29 2.3 1.4 16 2.8 1.9 35 18
BEREA
ERIER BH0.28m3 m3 3.1 0.4 0.4 0.4 0.2 0.2 04 0.3 05 0.3
AL
ERIER BH0.28m3 m3 13.9 1.6 2.0 15 0.9 1.1 20 1.3 24 1.2
FRET 0B 4tE m3 49 0.6 0.7 0.6 0.4 0.4 0.6 0.6 0.5 0.5
INEL Xy DR YR EI
ERRIEHI BH0.13m3 m3
BERE
ERIER BH0.13m3 m3
AL
ERIER BHO0.13m3 m3
FETNE 21 m3
INEL Xy DR SR EI
ERRIEHI BHO0.08m3 m3
BEREA
ERIER BH0.08m3 m3
AL
ERIER BH0.08m3 m3
FETNE 2UE m3
FIHRETL
(ks
HEkH ¢ 200
FIE T-25 &
HEkH ¢ 200
" T-14 &
HEkH ¢ 200
" T-8 &
el
" ¢ 200 L[E] 9 1 1 1 1 1 1 1 1 1
FIHRETL NHEBKET T 9 1 1 1 1 1 1 1 1 1
EHREL SHEXWHEE ¢ 200 ERT
Bt EMEET
HTEMS O
XERTT mftERE 3.0mKi R 4 1 1 1 L
BT ER 3.0mLlES0mEK#E [T 5 1 1 1 1 1
WMAEER 5.0mlE120mkiE | &FfT
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H = (Fit/BRE
TH | 725 L= R % B g 54 | S10-9-3-1] S10-9-3-1510-9-3~1
i No.a~No.1| No.a~No.1| No.a~No.1
RAESLUFET I
ERLIT
I\ RIYEHI
EERIEH] BH0.28m3 m3 5.8 15 2.2 2.1
BEREA
FHRIER BH0.28m3 m3 09 0.2 0.4 0.3
mEAL
FHRIER BH0.28m3 m3 39 1.0 14 15
FAE T 0 MHE m3 15 04 0.6 05
INBL /R DRI HEHEI
BEERIRHI BH0.13m3 m3
BEREA
BEHRIER BH0.13m3 m3
AL
BEHRIER BHO0.13m3 m3
FE+nE 2UE m3
INBL /Ry DR HEHEI
BEERIRHI BHO0.08m3 m3
BEREA
BEHRIER BH0.08m3 m3
AL
BEHRIER BH0.08m3 m3
FE+nE 2AE m3
FIHRETL
(ks
HEkH ¢ 200
FIE T-25 &
HEkH ¢ 200
" T-14 &
HEkH ¢ 200
" T-8 &
R
" ¢ 200 & 3 1 1 1
FIHREL BHBKES T 3 1 1 1
BNET SHEXWHEE ¢ 200 ERT
Bt EMEET
HUTEMSENO
XERTT BtER 3.0mKiH [E50300 2 1 1
BRAER 30mllES0mKRE | BT 1 1
WMAEER 5.0mlE120mkiE | &FfT
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B = (BF/BRES)
TH | 725 L= R % 204 I o og [10010562| 0 [S10-9-3-21 oy [1810-9-3-1
=" i No.1 ~No.1 i No.1 ~No.1 i No.1 ~No.a
tHT
MEREII[AEL]
TAI7 M EREE R
SRR L B 20cmBLF m 290 148.8 148.8 117.8 117.8 23.0 23.0
VY-
" 20cmlLF m
TAI7 M EHEE R
SRR AEED m2 144 78.1 78.1 55.9 55.9 10.0 10.0
VY -MERERR
% KEED m2
TAI7 M EREE R
" {REHE AR m2 144 78.1 78.1 55.9 55.9 10.0 10.0
TAI7 ISR
FIE R AL I8 AEH m3 6 3.1 3.1 22 22 0.4 04
IvH -k
" *%‘E m3
TAI7 ISR
" R EHEER m3 4 23 23 1.7 1.7 0.3 03
SMEREI (R ES] £t
TAIT MR RR
SRR L B 20cmBLF m 107 49.8 49.8 44.6 44.64 12.9 12.88
V) -MERERR
" 20cmlLF m
TAT7 M EREE R
SRR m2 37 176 176 15.1 15.1 43 43
V) -MERERR
" m2
TAI7 M EREE R
" {REHE AR m2 37 17.6 17.6 15.1 15.1 434 434
TAI7 ISR
BT m3 1 0.70 0.7 0.60 0.60 0.17 0.17
IV -+a%
" m3
TAI7 ISR
" R EHEER m3 1 0.53 05 0.45 0.45 0.13 0.13
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B = (BF/BRES)
TH | &3 L= PR L X04 IN o og [10010562| 0 [S10-9-3-2) oy [1810-9-3-1
= i No.1 ~No.1 i No.1 ~No.1 No.1 ~No.a
tHT
MEREI[RNGHEL]
TATT VN EREE R
SRR BT 20cmELF m -
VY-
" 20cmlLF m -
TAT7 VN EREE R
SRR R ER m2 333 176.0 176.0 130.0 130.0 27.4 274
VY- MR
" iR ER m2 -
TAI7 ISR
FIE R AL I8 B ER m3 13 70 7.0 52 5.2 11 1.1
a9 -k
" iR ER m3 -
MEERTIREIR]
HEREBEI[XES]
BART g%ﬁ‘b‘ t=11cm m2 144 78.1 78.1 55.9 55.9 10.0 100
=l
TRIFMMEHET BEFRETAIV3) t=3cm m2 144 78.1 78.1 55.9 55.9 10.0 10.0
SHEREIBT[ETE L] £t
BREET BARA t=11lcm m2 37 17.6 17.6 15.1 15.1 43 43
=®ET
TRIFVMEHET BEFRETAIV3) t=3cm m2 37 17.6 17.6 15.1 15.1 43 43
MEGIRI[AEIR-FE]
TREREIE m2 477 254.1 254.1 185.8 185.8 374 374
TR
AT RC-30 t=10cm m2 -
B
" RM-30 t=10cm m2 -
B
TAIZMMRET g%*ﬁﬁrﬁ?x:y(zm t=5ecm m2 -
" gé%*ﬁrﬁn:y(m) t=5cm m2 -
" EE%HH}ETKJ)M) t=4cm m2 477 254.1 254.1 185.8 185.8 374 374
MEBIBI[AEIR-SE]
THEEE m2
TRERRAE
AT R§0—30 t=10cm m2 -
TAITIMEET BABRETAIA3) t=4em m2 -
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ByEE AT SERI

H = (GFt/BEE)
TH | 725 L= P L v g g |10710-5-6-1]10-10-5-6-110-10-5-6-1 [ 10-10-5-6-1  10-10-5-6-1 [ 10-10-5-6-1 [10-10-5-6-1-1] 10-10-5-6-1-1[ 10-9-3-1-1{ 10-9-31-1
= i No.1~No.6| No.6~No.5| No.5~No.4| No.4~No.3| No.3~No.2| No.2~No.1| No.3~No.2 | No.2~No.i | No.3~No.2 | No.2~No.1
BEELL
(&1%200mm) BIER m 165 165 16.7 19.0 26.8 16.3 6.5 24.00 4.20 19.70 3.20 28.60
HERLIT
I\ RIYEHI
BEERIRHI BH0.28m3 m3 220 220 309 33.1 46.7 26.7 10.0 24.2 39 18.1 49 215
_ BEREA
FHRIER BH0.28m3 m3 36 36 46 5.2 75 44 1.6 38 0.6 32 0.7 47
-~ FAL
FHRIER BH0.28m3 m3 146 146 219 22.9 324 18.0 65 15.6 24 11.2 32 116
FRET 0B ME m3 83 83 9.9 1.3 15.9 9.7 3.9 9.5 1.6 7.7 19 11.1
INBL /R DRI HEHEI
ERRIEHI BH0.13m3 m3 - -
_ BEREA
BEHRIER BH0.13m3 m3 - -
~ FAL
BEHRIER BHO0.13m3 m3 - -
FE+nE HE m3 - -
INBL /Ry DR HEHEI
ERRIEHI BHO0.08m3 m3 - -
_ BEREA
BEHRIER BH0.08m3 m3 - -
-~ FAL
BEHRIER BH0.08m3 m3 - -
FE+nE HE m3 - -
EmMEL
Y7HEEIRIEE ZLE  [PRP ¢ 200 m 157 157 15.8 18.1 25.9 15.4 5.6 23.1 36 19.2 26 28.1
M
" ESHF PRP ¢ 200 T 14 14 2 2 2 2 2 2 1 1
o #HE ETKER
1BEZ T — 150mm X 50m 2% m 157 157 15.8 18.1 25.9 15.4 5.6 23.1 36 19.2 26 28.1
EERT
HEHE T (BH0.28m3)
BRERT t=10cm BAERHA m3 13 13 1.7 1.9 27 1.6 0.6 1.4 0.2 1.2 0.3 1.7
HEHE T (BHO.13m3)
BOERT t=10cm BA®EA m3 - -
HEHE T (BH0.08m3)
BOERT t=10cm BA®EA m3 - -




HyhEx  RAMIT A1
T3E | &3l W B P Bif N g g |10710-5-6-1]10-10-5-6-110-10-5-6-1 [ 10-10-5-6-1  10-10-5-6-1 [ 10-10-5-6-1 [10-10-5-6-1-1] 10-10-5-6-1-1[ 10-9-3-1-1{ 10-9-31-1
No.1~No.6 | No.6~No.5| No.5~No.4 [ No.4~No.3| No.3~No.2| No.2~No.1[ No.3~No.2 | No.2~No.1 | No.3~No.2 [ No.2~No.1
ERLBET
TFILERIELR
TILERIREAT H=2.0m m 85, 85 167 190 26.8 163 6.5
TIVERIREAT H=2.5m m - -
TILSXRMEIIRT H=2.0m m 85 85 16.7 19.0 26.8 163 6.5
FIVERIRSIRT H=2.5m m - -
TBXRT BEERE 1B m 85 85 16.7 19.0 26.8 163 6.5
TBXRT BEERE 2B m - -
BEEMARLE
BEHAREAL  [H=20m m - -
BEHAREAL  [H=25m m - -
BEMXARSIHKRT  [H=20m m - -
BEMXARSIKRT  [H=25m m - -
TBXRT BEER 1B m - -
TBXRT BEERE 2B m - -
FCAHE S TR
BAT m - -
51k T m - -




HyhEx  RAMIT A1
¥ =2 (Gi/BirsE)
T3E | &3l W B P By 2 v B | 10710757671 [10-10-5-6-110-10-5-6-1|10-10-5-6-1  10-10-5-6-1 | 10-10-5-6-1
10-10-5-6-1-6| 10-10-5-6-1-5| 10-10-5-6-1-4] 10-10-5-6-1-3| 10-10-5-6-1-2| 10-10-5-6-1-1
JuR—ILT
M TUR—ILT
I TR —IL
ZRED
£ T-25 #8 - 0 0 0 0 0 0
ZRED
" T-14 #H 6 1 1 1 1 1 1
RESE 25mm & 4 1 1 1 1
" 45mm & 1 1
sREE) Y H=50 L[E] 3 0 1 1 1 0 0
" H=100 L[E] 1 1 0 0 0 0 0
" H=150 L[E] 2 0 0 0 0 1 1
e H=300 & - 0 0 0 0 0 0
" H=450 L[E] 5 1 1 1 0 1 1
" H=600 L[E] 1 0 0 0 1 0 0
EE H=300 & - 0 0 0 0 0 0
" H=600 L[E] - 0 0 0 0 0 0
" H=900 L[E] - 0 0 0 0 0 0
BT EE H=600 & 1 0 0 0 0 0 1
" H=900 L[E] 2 0 0 0 1 1 0
" H=1200 L[E] 3 1 1 1 0 0 0
" H=1500 L[E] - 0 0 0 0 0 0
" H=1800 L[E] - 0 0 0 0 0 0
JEAR H=130 & 6 1 1 1 1 1 1
ERT & 6 1 1 1 1 1 1
oy 3mLLF & 6 1 1 1 1 1 1
" 3MmB~4mUT & -
" AmiB~5mUT & -




ByEE AT SERI

H = (GFt/BEE)
TH | 725 L= PR L X04 i g |1010ss1-1]10-10-5-6-1-1[ 10-9-3-1-1110-9-3-1-1
= A B 10-10-5-6-1-1-2| 10-10-5-6-1-1-1| 10-9-3-1-1-2| 10-9-3-1-1-1
INETUR—ILT

NI R—)L (BEEH)

[k
A2N—k ¢$200-¢p30qi2 A KT & 2 2 0 1 0 1 0
" M ST L[E] - 0 0 0 0 0
" BE 15° L[E] - 0 0 0 0 0
" BE 30° L[E] 1 1 1 0 0 0 0
" BE 45° L[E] - 0 0 0 0 0
" BE 60° L[E] - 0 0 0 0 0
" BE 75° L[E] - 0 0 0 0 0
" BE 90° L[E] - 0 0 0 0 1
" &R 45° L[E] - 0 0 0 0 0
" &R 90° L[E] - 0 0 0 0 0
" %Z DR & - 0 0 0 0 0
" BE BE L[E] - 0 0 0 0 0
" EE 90° HE L[E] - 0 0 0 0 0
" )= —=b H= m 2 2 0 0 2 0 0
" 7')=4un -t & 1 1 0 0 1 0 0

i ¢ 300
RENS T-25 & - 0 0 0 0 0
¢ 300
" T-14 L[E] 4 4 1 1 1 1 1
] TlEE=Z L&
METUR—IVERET  |[F2mIT (i3 4 4 1 1 1 1 1
TlEEZ L& B

" ,5’?'{35”11;1-': %Fﬁ - -

ERET SHEEHHEE & 4 4 1 1 1 1 1




_ HRmEE BT EFRI
B = (BF/BRES)
5 # B B % By 10-10-5-6-1]10-10-5-6-1 [ 10~10-5-6-1 [ 10~10-5-6-1 [ 10-10-5-6~1 | 10-10-5-61 [ 10~10-5-6-1 | 10-10-5-6~1 | 10~10-5-6~1 [ 10~10-5-6-1 [ 10-10-5-6~1
= No.1~No.6| No.1~No.6 | No.1~No.6| No.6~No.5| No.6~No.5| No.6~No.5| No.6~No.5| No.5~No.4| No.5~No.4| No.5~No.4 No.4
RAESLUFET I
ERLIT
1\ IR HEE
BEERIRHI BH0.28m3 m3 31 2.8 25 24 20 24 2.3 18 2.2 2.4 20 15
_ BAERA
FHRIER BH0.28m3 m3 7 04 04 04 03 0.3 04 0.3 04 04 03 0.2
AL
ERIER BH0.28m3 m3 21 20 1.7 1.6 1.4 1.7 1.5 12 1.4 1.6 1.4 1.0
FRET 0B 4tE m3 8 0.6 0.7 0.6 05 05 0.6 0.4 0.7 0.6 0.5 0.4
INEL Xy DR YR EI
BEERIRHI BH0.13m3 m3 -
BAERA
BEHRIER BH0.13m3 m3 -
AL
BEHRIER BHO0.13m3 m3 -
FeELTuE HE m3 -
INEL Xy DR SR EI
BEERIRHI BHO0.08m3 m3 -
BAERA
BEHRIER BH0.08m3 m3 -
AL
BEHRIER BH0.08m3 m3 -
FeELTuE HE m3 -
FIHRETL
(ks
$HERE ¢ 200
FIE T-25 & -
$HERE ¢ 200
" T-14 1@ -
$HERE ¢ 200
" T-8 1[5] -
el
" ¢ 200 L[E] 15 1 1 1 1 1 1 1 1 1 1 1
FIHRETL BHBKES T 15 1 1 1 1 1 1 1 1 1 1 1
EHREL SHEXWHEE ¢ 200 ERT -
Bt EmEET
BAERERY
XEWAT BRAEE 3.0mkHE ERT 8 1 1 1 1 1
BT ER 3.0mLlES0mEK#E [T 7 1 1 1 1 1 1
WMAEER 5.0mlE120mkiE | &FfT 0




_ ByhEE  BAMIT  FERI
H = (Fit/BRE
TH | 725 L= PR B g gp [10710-5-6-1]10-10-5-6-1[10-10-6-6-1 [ 10-9-3-1-1
i No.4~No.3|  No.3 No.1 No.1 ~No.2
RAESLUFET I
ERLIT
I\ RIYEHI
BEERIRHI BH0.28m3 m3 11 37 16 0.2
_ BEREA
BEHRIER BH0.28m3 m3 02 0.6 03 0.1
mEAL
BEHRIER BH0.28m3 m3 0.8 25 1.0 0.1
FE+nE MHE m3 03 1.0 05 02
INBL /R DRI HEHEI
BEERIRHI BH0.13m3 m3
_ BEREA
ERIER BH0.13m3 m3
AL
ERIER BHO0.13m3 m3
FE+nE HE m3
INBL /Ry DR HEHEI
BEERIRHI BHO0.08m3 m3
_ BEREA
ERIER BH0.08m3 m3
AL
ERIER BH0.08m3 m3
FE+nE HE m3
FIHRETL
(ks
HEkH ¢ 200
FIE T-25 &
HEkH ¢ 200
" T-14 &
HEkH ¢ 200
" T-8 &
el
" ¢ 200 L[E] 1 1 1 1
FIHRETL BHBKES T 1 1 1 1
EHREL SHEXWHEE ¢ 200 ERT
Bt EMEET
HUTEMSENO
XERTT BiTER 3.0m*iE [E50300 1 1 1
BT ER 3.0mLlES0mEK#E [T 1
WMAEER 5.0mlE120mkiE | &FfT




HRmEE BT EFRI
H = (GFt/BEE)
T3E | &3l W B P 174 BN g g |10710-576-1]10-10-5-6-110-10-5-6-1 [ 10-10-5-6-1  10-10-5-6-1 [ 10-10-5-6-1 [ 10-10-5-6-1-1] 10-10-5-6-1-1[ 10-9-3-1-1( 10-9-31-1
= i No.1~No.6| No.6~No.5| No.5~No.4| No.4~No.3| No.3~No.2| No.2~No.1| No.3~No.2 | No.2~No.1 [ No.3~No.2 [ No.2~No.1
tHT
MEREII[AEL]
TAI7 M EREE R
SRR L B 20cmBLF m 330 3300 334 380 53.6 326 13.0 8.4 480 394 6.4 57.2
VY-
" 20cmlLF m
TAI7 M EHEE R
SRR AEED m2 157 157.3 175 200 28.1 174 6.8 20.9 36 16.7 34 23.2
VY -MERERR
" AEE m2
TAI7 M EREE R
" SRR m2 157 157.3 175 20.0 28.1 17.1 6.8 20.9 36 16.7 34 23.2
TAI7 ISR
FIE R AL I8 AEH m3 6 6.3 0.7 0.8 1.1 07 0.3 0.8 0.1 07 0.1 0.9
IvH -k
" AEE m3 0
TAI7 ISR
" R EHEER m3 5 47 05 0.6 0.8 05 0.2 0.6 0.1 05 0.1 07
SMEREI (R ES] et
TAIT MR RR
B i 20cmLLF m 69 68.9 68.9
V) -MERERR
" 20cmBLF m 0
TAT7 M EREE R
SRR m2 23 23.2 23.2
V) -MERERR
" m2 0
TAI7 M EREE R
" SRR m2 23 232 232
TAI7 ISR
FIE R AL I8 m3 1 0.9 0.9
IV -+a%
" m3 0
TAI7 ISR
" R EHEER m3 1 07 0.7




_ HyhEE  RAHIT R
H = (GFt/BEE)
T3E | &3l W B P B g g |10710-5-6-1]10-10-5-6-110-10-5-6-1 [ 10-10-5-6-1  10-10-5-6-1 [ 10-10-5-6-1 [10-10-5-6-1-1] 10-10-5-6-1-1[ 10-9-3-1-1{ 10-9-31-1
= i No.1~No.6| No.6~No.5| No.5~No.4| No.4~No.3| No.3~No.2| No.2~No.1| No.3~No.2 | No.2~No.1 [ No.3~No.2 [ No.2~No.1
tHT
HERET (RRHE]
TATT VN EREE R
SRR BT 20cmBA T m
VY-
" 20cmlLF m
TAT7 VN EREE R
SRR R ER m2 247 246.6 459 494 61.6 326 12.0 28.3 2.7 14.0
VY- MR
" iR m2 0
TAI7 ISR
FIE R AL I8 B ER m3 10 9.9 18 20 25 1.3 05 11 0.1 0.6
a9 -k
" iR m3 0
0
IR T REIA] 0
HEREBEI[XES] 0
BEET g%ﬁ‘b‘ t=11cm m2 157 157.3 175 20.0 28.1 17.1 6.8 20.9 36 16.7 3.4 23.2
=l
TRIFMMEHET BEFRETAIV3) t=3cm m2 157 157.3 175 20.0 28.1 17.1 6.8 20.9 36 16.7 34 23.2
SHEREIBT[ETE L] 0
BART BARA t=11lcm m2 23 23.2 232
=EL
TARITIWMEET BATHETAIV(3) t=3cm m2 23 23.2 23.2
0
SHERIBT(AER-FEE] 0
TREREIE m2 408 4075 635 69.4 89.8 497 18.9 492 42 19.7 6.1 37.2
TR
BRAET RC-30 t=10cm m2 0
B
" RM-30 t=10cm m2 0
B
TAI7IMEET g%*ﬁﬁrﬁ?x:y(zm t=5ecm m2 0
" BAEBRETAIAI) t=5m | m2 0
=E
" BEFRETAIV3) t=4cm m2 408 4075 63.5 69.4 89.8 49.7 18.9 492 42 19.7 6.1 37.2
HERIBI[(AER-FHE] 0
THEEE m2 0
TRERRAE
BRAET RC-30 t=10cm m2 0
=E
TAITMMAET BAZHETAIVA3) t=4cm m2 0




T EERBEEMREREETE

B M T X
2 TRX

H Al I

w2 ¢ B &




HmEE BT £EHER
= (&&D)
T | &5l B & Bfu L g g | 1077576 [ 10-7-5-6" | 10-7-5-6'
- : BEM~M3 | M3~M2 | M2~M1
EEEL
(& #%200mm) BIEZER m 73 73 245 36.0 12.0
FRTT
IR HEH
EERIEAI BH0.28m3 m3 120 120 42.7 59.0 18.4
- BARE
BFIRIER BH0.28m3 m3 20 20 6.8 102 32
B AL
BFIRIER BH0.28m3 m3 81 81 29.6 39.7 12.0
FET IR 4E m3 43 43 14.6 21.4 7.1
INBL SR HEEI
EIRYEAI BHO0.13m3 m3 -
BERAR
BFIRIBER BH0.13m3 m3 _
AT
BFIRIER BHO0.13m3 m3 _
FELE 2tE m3 -
INEL SRR
EERIEAI BH0.08m3 m3 _
BERA
BFIRIBER BH0.08m3 m3 _
WAL
BFIRIER BH0.08m3 m3 -
FELE 2E m3 -
BEMET
V7 REEIEILE VE 7Fr’_4LR*F;r¢ 200 m 70 70 23.8 35.35 11.26
Al &S F PRP ¢ 200F [Elz) 3 3 1 1 1
o ¥ ETKER
BEZET— 150mm X 50m 24% m 70 70 23.8 354 113
EERT
W T (BH0.28m3)
BRARERT t=10cm BAEWEA m3 7 7 25 3.7 1.2
HEME T (BHO.13m3)
BARERT t=10cm BAEWEA m3 - -
T (BH0.08m3)
BRARERT t=10cm BAEWEA m3 - -




HmEE BAIT  KEHE
£ (&5
T | &5l B & L1 N g 5 | 107775767 [10-7-5-6" | 10-7-5-6'
BEM~M3 | M3~M2 | M2~MT
ERTRT

TIVERIREE

TIVESRIREAT H=2.0m m 73 73 245 36.0 120

TIVERREAT H=2.5m m -

TIVERIREIHRT H=2.0m m 73 73 245 36.0 120

TIVERREIHET H=2.5m m -

ITEBXRT BESRE 1K m 73 73 245 360 120

ITEBXRT BEERE 2K m - -

BEMXRLE

BEMEXREAT  |[H=20m m - -

BEMERREALT  |[H=25m m - -

EEMAR54ET  |H=20m m - -

EEMARS4ET  |H=25m m - -

ITEBXRT BEEERE 1K m - -

ITEBXRT BEERE 2K m - -

ECAHBRLE

BAT m - -

514kT m - -




HEmEE HEIT KR

% = (&&H)
5 B g Bzl 5 g |10756
10-7-5-6"-2
ToR—ILT
AT R—ILT
15T R—IL
ZHEL
3 T-25 #A - -

ZHEL

" T-14 #A 1 1 1

AEEE 25mm & 1 1 1

" 45mm 1 - -

YL H=50 & - -

" H=100 i - -

" H=150 & 1 1 1

wEE H=300 & - -

" H=450 & 1 1 1

" H=600 & - -

BE H=300 & - -

" H=600 & - -

" H=900 & - -

EER{TEE H=600 & - -

" H=900 & 1 1 1

" H=1200 i - -

" H=1500 i - -

" H=1800 i - -

JEhR H=130 & 1 1 1
E&T & 1 1 1
JayoiEtT 3mUTF & 1 1 1
" 3mEB~4mLUT & - -

" AmEB~5mLT & - -




BmEx  HAIT E R
£ (8&D)
TI7& | &R # B B Bl L 10-7-5-6" | 10-7-5-6
= 10-7-5-6" M1| 10-7-5-6" M3
INTUR—ILT
NI R—IL(EE &)
M
A N\—k ¢ 200-¢300(#2 55 KT & 1
" | ST &
" % 15° &
" % 30° &
" BEE 45° &
" % 60° &
" HE 75° &
" HE 90° & 1
" & 45° &
" &R 90° &
" %% DR &
" BE BE &
" EE 90° HIE &
" 7)=4uN =} H= m
" 7)Aoy -} &
@300
REEME T-25 &
@300
" T-14 & 1 1
BitEZ L8
INITUR—ILERET 2T &R 1 1
BitEZ L8
" ,%35"11;)\-': %Fﬁ
ERET SR ELES & 1 1




HMmEX  BHIT EhES
B = (&)
I5E | &Rl # B i =Tl N N 10-7-5-6" | 10-7-5-6' | 10-7-5-6" | 10-7-5-6" | 10-7-5-6" | 10-7-5-6" [10-7-5-5'-5[10-7-5-5-5| 10-7-5-5 | 10-7-5-5 | 10-7-5-5
= i No.1~No.1| No.1~No.1|No.1~No.1| No.1~No.1| No.1~No.1| No.1~No.1|{ No.1~No.1| No.1~No.1| No.4~No.5| No.4~No.5[ No.4~No.5
BRAEHLVETT
BERLTT
LR L
EIRYEAI BH0.28m3 m3 23 20 24 33 28 1.1 2.1 2.4 18 1.7 08 0.8 0.8
BERA
BFIRIER BH0.28m3 m3 5 4 03 05 05 02 04 0.4 0.4 03 0.4 04 04
mAL
BFIRIER BH0.28m3 m3 13 12 1.7 22 1.9 0.7 1.3 1.6 1.0 1.0 0.3 0.3 03
FELTWIE 4B m3 7 7 0.5 0.9 0.8 0.3 0.6 0.6 0.7 0.6 0.5 0.5 05
INEE Xy RHEE
EIRYEAI BHO0.13m3 m3 - _
BERA
BFIRIBER BH0.13m3 m3 - _
AL
BFIRIER BHO0.13m3 m3 - _
FELE 2tE m3 - -
INERE Xy RHEE
EIRIEAI BH0.08m3 m3 - _
BERA
BFIRIBER BH0.08m3 m3 - _
AL
BFIRIER BH0.08m3 m3 - _
FELE 2tE m3 - -
FIHRETL
M
FHEXH ¢ 200
FIE T-25 & - _
FHEXH ¢ 200
" T-14 e - -
FHEXH ¢ 200
" T-8 & - -
e R
" ¢ 200 & 15 11 1 1 1 1 1 1 1 1 1 1 1
FEHRET BHFBKET [Elz) 15 11 1 1 1 1 1 1 1 1 1 1 1
ERET HEXWAEE ¢ 200 &R - -
It EMmERT
BT ERZRRY
HEWTT BRAER 3.0mKiH &R 3 3 1 1 1
BRftER 3.0mLlLE5.0mKiE |&ERF 12 8 1 1 1 1 1 1 1 1
BRAER 5.0mlE12.0mkiE | - -




HyhEx  BEIT  FSR

% = (8D
T | &5l B & Bfzl . g | 107575 | 10-7-5-5 | 10-7-5-5 | 10-7-5-5
i No.5~No.6| No.5~No.6| No.5~No.6| No.5~No.6
BRAEHLVETT
BERLTT
1N ROYRH]
EERIEAI BH0.28m3 m3 3 08 0.8 08 0.8
BERAR
ERER BH0.28m3 m3 1 04 04 04 04
AL
ERER BH0.28m3 m3 1 03 03 03 03
FET IR MEE m3 2 05 05 05 05
INBE Ny R HRHEI
EIRYEAI BHO0.13m3 m3 -
BERAR
BFIRIBER BH0.13m3 m3 -
AL
BFIRIER BHO0.13m3 m3 -
FELTWIE 2tER m3 -
INBS Ny RO HRHEI
EIRIEAI BH0.08m3 m3 -
BERA
BFIRIBER BH0.08m3 m3 -
AL
BFIRIER BH0.08m3 m3 -
FELTWIE 2tER m3 -
FIHRETL
M
FEEREL ¢ 200
FIE T-25 & -
FFEREL ¢ 200
" T-14 & -
FEEREL ¢ 200
" T-8 & -
e
" ¢ 200 & 4 1 1 1 1
FEHRET BHFBKET [Elz) 4 1 1 1 1
ERET SHERBLHEEE ¢ 200 (£l -
R EMET
T EMEREO
XERFT BitER 3.0mEkiH (£l
BRftER 3.0mLlLE5.0mKiE |&ERF 4 1 1 1 1
BT EER 5.0mlE12.0mkE |EFfF -




BmEx  HAIT E R
% = (8D
T | &5l B & Bfu L g 5 | 107775767 [10-7-5-6" | 10-7-5-6" | 10-7-5-5
- i BEM~M3 [ M3~m2 [ mM2~m1 [ Ma~Mme6
&L
SHEHMET[ARES]
TRAIT VMR RR
SHEEhRUI MR 20cmEL T m 145 145 49.0 72.0 240
IV - M EE R
" 20cmELF m - -
77\77M~£ﬁ i
SRR BEEh m2 76 76 25.7 37.8 12.6
J/’J'J MEZE R
" BB m2 - -
TRAIT VMR RR
" R & D m2 76 76 257 378 12,6
TAITIEER
R IE AL 2R KEH m3 3 3 1.0 15 05
VIS
" AES m3 - -
TAITIEER
" RS m3 2 2 0.8 1.1 0.4
SHEHE T (BT EER) &E&t
TRI7WNEREERR
SHEEhRUI MR 20cmEL T m 55 55 55.1
IV - M EE R
" 20cmBL T m - -
TRAIT VMR RR
SRR m2 17 17 174
IV - M EE R
" m2 - -
TRAIT VMR RR
" R & D m2 17 17 17.4
TRITIAER
R IE AL 2R m3 1 1 0.7
a9k
" m3 - -
TAITIEER
" IREHEES m3 1 1 05




BmEx  HAIT E R
% = (8D
T | &5l B & Bfu L o gt | 1077576 [10-7-5-6" [ 10-7-5-6" | 10-7-5-5
- i BEM~M3 [ M3~M2 [ M2~M1 | M4~Ms6
tHT
MERETLHRRHER]
TR77 MM EREERR
EEIE 20cmBL T m - -
WY -FEHERR
" 20cmELF m - -
TAT7 W NEREERR
SRR P m2 155 155 33.1 84.6 378
VY- bR AR
" TR m2 - -
TRIT ISR
R IE AL 2R P m3 6 6 13 34 15
IS
" iR ER m3 - -
HERIBIREIH]
HEREIEIIRESR]
BAET BERA t=11cm m2 76 76 25.7 378 126
RETL
TRITVMEET BAZHETAIV(13) t=3cm m2 76 76 257 378 12,6
HEREIE T [ER{TEE] K&t
RiET BERA t=11cm m2 17 17 17.4
RETL
TRITVMEET BAZHETAIV(13) t=3cm m2 17 17 17.4
HERIBI[(XEIH-FE]
TREEEIE m2 232 232 58.8 1224 50.4
TIERE
REET RC-30 t=10cm m2 - -
FERRAE
" RM-30 t=10cm m2 - -
EZfE
TAITIWMRET g%*ﬁ*ﬁf;‘f?Z])(ZO) t=5cm m2 - -
" ﬁi%*ﬁf&n:y(w) t=5¢m m2 - -
=E
" BAZHETAIV(3) t=4cm m2 232 232 58.8 1224 50.4
HERIBI[XEIH-SE]
TREEEIE m2 -
TIERE
BREET RC-30 t=10cm m2 -
=E
TAITIWMERET BAERETAIV(3) t=4cm m2 -




